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16U/103/15(i)

No. of Questions : 170

el Y WA 170
Time : 2 Hours ] [ Full Marks : 450
w9g 2 g2 ] [ quig: 450
Instruction :
fadr -

This paper consists of Objective Type Questions and is divided into
Two Sections (I & II) as under

ugw-ﬂagﬁmqmq?mwﬁa%wﬂmﬂmmﬁﬁm%ﬁw%
o afdfa 2 :

(@) Section-I : Consists of 130 Objective Type Questions on General Awareness,
Current Affairs, Common Legal Knowledge, Aptitude and Menta] Ability.

m-l:ﬁlsoagﬁmﬂumww,wmﬁmmwﬁﬁmm.

SRR Td TRE A gy amnRe €
(b) Section-II : Consists of 20 Objective Type Questions on (I) English Language
and (II) Hindi Language.
www.lawgiri.com ?v@-n + 7 20 TR ge (1) sRIh AT iR (1) R 9 & T R smnR
|

A candidate is required to attempt as many questions ,q he
Section-I, and questions of ANY ONE of the TWO LanB“age ;
OR (II) Hindi in Section.[j, Pape

maﬁﬁa&%%%m-lmﬁ@llfﬁﬂ)&%ﬁmm
R T B F B o
Note: (1) Answer as many questiong as you can. Ech Questjg ;

mark- will be dedycteq for each incoect answe,
awarded for each unattempted question: €70 mark Will he

(1)

/she can of

18 (1) English



AOBITE T B 8l B BT YIS BT | Tdd U 3 3(F & 8| A TaAd
SR & [0 ¢ 3 BT SN | e HTIRe Ue H1 UI<lid T &1 |

(2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.
e Ee Ysfers v Fh SR & Pree ¥dW g, @ Mecas w8 S <

(3) Each question is followed by four alternative answers (1), (2), (3) and (4). Only
one of these answers is correct. Select the correct answer and record it against
the relevant question by darkening the circle with Ball Point Pen in the Anf;wer
Sheet, as per the guidelines. o
TAG I B gR JBfuD t{ﬂ?{fﬂﬁ@%‘ﬁl‘% ), ), (3)5217(4)%@33—1{'&1
T 3| 3 G dad UF & SR G #| G IR P AGT PAY T IFD Fhd
B TIRUT § aeEE] me @ wre Pdwger s ga () @ T bR
U9 gRI Blell BRS TV |

SECTION -1
e ~ |

1. National Voter's day ison:

(1) 25th January (2) 26th January

(3) 26th November (4) 24th December

(1) 25 ey (2) 26 SR
(3) 26 TR (4) 24 fra=R
www.lawgiri.com , . 1 eneed patrolling ship :
: d has inducted a high-speed p
= I(?;j 12;;232? oo (za)s 1Amogh (3) Vistar " ‘(4) Gagan
Wmmqwmwﬁ@aﬁmfﬁmﬂﬁqﬁﬁm -4 o
(2) 3 (3) fawr )

(1) .
f gravitation was propounded by * |
3. The universal Jaw 0 é) i S 4 Kaple

(1) Galileo Wamwmm;
A T ) aeffewd @ gt @ P

0 Active Goernance and Timely Implementation) program is :
AT G dressal echanism (2) Social Audit mechanism
Grievance jrer Or%mation (4) None of the above

BlO

(3) Whiste 1 (2)
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gfer (1 Qfded o= o ergEel i) de @

(1) HfT FHRIA o (2) ATIRTS ADHeETT A

(3) e E R (4) SR ¥ F P TE
Which of the following type of mirror is used in the head lamps of cars ?
(1) Spherical convex mirror (2) Spherical concave mirror
(3) Parabolic concave mirror (4) Plane mirror _
ferfomaa <dor @ yaRl § ¥ BN BRI & wRg vt F g frar o @ ?
(1) MATHR TARR FYoT (2) MAPR Il YT

(3) URACHT I U (4) e v

Who won Raman Magsaysay Award 2015 ?
(1) Sanjiv Chaturvedi & Anshu Gupta (2) Ashok Khemka

(3) Neleema Mishra (4) Harsh Nanda and Deep Joshi
T AT Q@R 2015 fhes A ?

(1) woflg agddl 7 iy (2) NG WHHT

(3) freirar s (4) & T 7 Qu A

Which State hosted 35th National Games ?

(1) Haryana (2) Karnataka (3) Goa (4) Kerala
ssa‘i?r@ﬂﬁa%ﬁmﬁamﬁagen?

(1) Rarom (2) Fc® (3) TMar (4) @

Which country is set to host 2022 Winter Olympics ?

(1) Beijing (2) Tokyo (3) South Korea 4) Ri -
2022 HiadTel= NAfd BT smivor frg 2o § & 7 ) RioDe areiro
(1) @fsr (2) ey (3) &férr By (@) Rar & ot
Who was choosen for Dada Saheb Phalke Awards 205 7

(1) Gulzar (2) Pran

(3) Saumitra Chatterjee (4) Shashj Kapoy,

AIRT e PTeH JEDR 2015 fyq Rl 7 77 oy

(1) TR (2) yor

(3) whfee def @ T

(3)



10.  Find out missing number :
SEINISISIEICICE

? 13 49
9 17 69
.13 11 59
@) 5 2) 9 (3) 10 4) 21
11, Dolomite is an ore of which of the following ?
(1) Lead (2) Tron (3) Manganese  (4) Zinc
ST FrfaRed § @ frwer srre & ?
(1) @13 (2) e @) Hr (4) Riw
12, 1f20 - 10 means 200, 8 = 4 means 12, 6 x 2 means 4, then 100 — 10 x 1000 + 1000
+100x10="7?
(1) 0 (2) 20 _ (3) 1090 (4) 1900
afe 20 — 10 W 200, 8 = 4 WM 12, 6 x 2 WM 4, @ 100 - 10 x 1000 = 1000
+100x10="?
1 0 (2) 20 (3) 1090 (4) 1900
13. In the numbers from 100 to 1000, how many times digit 1 comes at the ten's
lace ?
{)1) 9 (2) 10 (3) 90 (4)? 900
1009 1000 1 e ¥ TR 158 @ W W fhae R T
1) 9 (2) 10 (3) 90 (4) 900

www.lggvgitieeantin’ the widely used antibiotic is produced by :

' (2) Analgae
(1) Synthetic means S bl

) A g 1 s o 1 v P R e ¢ :

: pe| ) T@ A |
((;)) iﬁm (4) vH daARA |

bers from 110 45 which are exactly divisible by 3 are arranged in
15. 1If thedr}umofde’ inimum number being on the top, which would come at the
ascending ' ?
m the top ¢ ) ‘
ninthplaceﬁ;m_q 1 A5 TF B TEn 3 ged A A v R (YA 9 al
AP )Iﬂﬂiﬂﬁ“?ﬁ?-@ﬂwm?

@l FR wd (2) 21 (3) 24 4) 27
18 (4)



Directions : (Question Nos. 16 - 18) : Study the following five numbers and answer the
questions given below :

339 : (o7 o 16-18) : A=y ura e &t 98 i =7 go9f & SR @ -

16.

17.

18.

19.

517 325 639 841 792

What will be the first digit of the second highest number after the positions of
only the second and the third digits within each number are interchanged ?

TG W B Bad g T DAY HET B AE A9 F q@ed B A€ gl
JferHTH |1 B yEel! weEn aar avf ?
1) 2 @) 7 3) 8 @) 9

What will be the last digit of the third number from top when they are arranged

in descending order after reversing the positions of the digits within each
number ?

TS W G e FER B Ry B Seer Y @ uvE AR 9 wed B A
G WYl SR W AR e @) sifaw weer aar e ?
(1) 2 2) 3 @) 5 @) 7

What will be the middle digit of the second lowest number after the positions
of only the first and the second digits within each number are interchanged ?

S Hesl § gl W B v 7 Rl W ) e ¥ w3 g
feca = den & wey e @ g@nft ?

(1) 2 (2) 3 (3) 5 @) 7

Ignorance of law is :

(1) notan excuse in Indian Law
(2) is an excuse in Indian Law

WWW. lawgifBtamsuch legal principle is followed in Indian Law

20.

(4) partly an excuse in Indian Law

faf | srfrsrar

(1) e fafdr SFTHR WA A (afy ) T @

(2) mmwwmmg@g

(3) U foeh Rofre Rigra &1 wwdig AR % qrem 78 ey &
(¢) viredr R 3 sier: AR A (3 2g) @

Which is the first metal used by man ?

(1) Copper (2) Silver 3) B
“ﬂ”a}mmmﬁ“@%mmi}r);ﬁ:rmﬂ;? % Brag
(1) (2) ardy (3) Bl @ ey

2



21; Whi.ch of the following helps in determining the age of a tree ?
(1) its height (2) its diameter  (3) its sap (4) itsrings
UF & 1 9 1 ik s A i 3 & o wems © 7
(1) 9@ $aE  (2) 3wa &N (3) D IFBIS  (4) D! o

22. Which of the following is not regarded as the contribution of the Mauryan
Period in the history of India ?
(1) A system of stalecraft
(2) Artificial Caves
(3) Unification of the continent under a single government
(4) Earliest stone sculpture
frfefad & & frd) WRA gRER § AR g 1 ARTer FET /Al S & ?
(1) Iou-HaTed I awe
(2) Pl TH
(3) WIIENT BT Ud ARHR B AT THIBRoT
(4) wrfTC graTor At

23.  Which of the following is related to Bijak’ ?
(1) Ravidas (2) Kabir (3) Surdas (4) Tulsidas
Braffad § W @I A9F W aHEg € 7
(1) e (2) ®dR (3) ™ (4) g

4. Which of the following cities was not founded by Firoz Shah ?
1) Fatehabad (2) Fatehpur Sikri (3) Jaunpur (4) Hissar
FRi A R ARG e & <enfaa T A o ?
www.lawgiri.com (1) FEAE ) FER A (3) SIELN 4) RER

95, The number of Judges in the Supreme Court at present is :

(1) 25 Judges - | |
(2) 26 Judg® including the Chief Justice of India

¢ ustice of India and 20 other Judges
(3) Cm?f’usgce of India and 16 other Judges
(8) NG e e @ R 2 7
nmﬂm&rﬂ
(1) A%A T afEd 26 IR
(ZZ @ T 3R 20 3 IR
9 -,-m‘m“cl{ iR 16 3y rmdlY
) ﬁ@

(6)



26. Who presides over the joint session of the two Houses of Indian Parliament ?
(1) Deputy Chairman of Rajya Sabha  (2) President
(3) Vice-President . (4) Speaker of Lok Sabha
IR S B A G B GYaT $9F BN Sezerar B BT £ 7
(1) ST & SYFITIRY (2) wefa
(3) Su-rgcufar (4) <o & R

27. Which among the following is India's largest Tiger reserve ?
(1) Periyar (2) Kanha (3) Bandipur (4) Gir
e # B AR B T e Rad @ 2
(1) 3Rar (2) B (3) YR (4) fie

28. Right to vote in India is based on the principle of :
(1) restricted franchise (2) hereditary privilege
(3) universal adult franchise (4) proprietary qualifications
WRA ¥ dte 2 B IR e Rigra w smRa & ?
(1) Rd¥a saesr 2) Yg& iR
(3) Wi qave wAIeR (4) wrafde et

29. Who of the following was the Chairman of the Boundary Commission which
divided Punjab and Bengal ?
(1) Lord Mountbatten . (2) Sir Cyril Radcliffe
(3) Sir Stafford Cripps (4) Lord P. Lawrence
ﬁaﬁmﬁﬁaﬁwmmmmmmﬁmwmmwm
T ?

www.lawgiri.0dneil¥ Frevedes 2) W R Yo

(3) W wws frw (4) &S Bo ang

30. Once appointei judges of Supreme Court serve till they attain the 4 ge of :
;ﬁ?aﬂﬁgﬁa qrg IedaH W%wﬁwﬁmﬁwa&gﬁmwﬁm
(1) 62 (2) 63 (3) 64 4) 65

31.

Quit India Resolution' was Passed at which of the followin
India Congress Committee Sesgjop, 7 5 places of the Ajj

(1) Rawalpindi  (2) Karachi (3) Bombay W oy )
_ cutta

(7)
PTo



32.

33.

34.

. 3
www.lawglrl.coﬁh)

35.

36.

Preifoied <l 3 @ fpw e W U e ARA B FEE B sfdaer |
RGBT yRara’ ik o o 7

(1) Rraefius) @) T (3) T (4) ere

Who of the following was the President of the Congress Party at the time of
mdependence ?

(1) Sarojini Naidu (2) Subhas Chandra Bose
(3) J. B. Kripalani (4) J. L. Nehru

e i & e PR ¥ @ @ i aiet P s o
(1) RERdI TSl aag (2) I T ard

(3) Fo dlo FUAT! (4) Slo Telo e

Who of the following was the Viceroy of India when King George V visited
India ?
(1) Lord Ripon (2) Lord Hastings (3) Lord Curzon (4) Lord Harding

%nmmﬁmﬁwzﬁwﬁmﬁaﬁﬁﬁ@aﬁqwzﬂww?
(1) =ns Ru= () o M@ (3) WS T (4) @ =T

Which of the following is biggest ?

(1) Arctic circle (2) Equator
(3) Tropic of Cancer (4) Tropic of Capricorn
Eriferaa # @ B gEem & ?
(1) orafze afed (2) T T
e oG dW (4) s 3w S

Which of the following is the most important crop of the temperate grasslands ?
(1) Sugarcane (2) Date (3) Cereals (@) Citrus fruit

e st ) AT 4 & @iy T s w7
(1) TN (2) WR (3) o (4) Rga od

Which of the {ollowing represents the poundary between Germany and Poland ?

sarallel (2) Hindenberg line
W e e (4) Durand line

(3) I\.{aginot [in \ ‘ - s
Wﬁémﬁﬁ@m$ﬁa@ﬂjmmﬁﬂﬂ¢ 3
<o A @) Rad
) %8 4o I 4) T X
(3)
(8)



37.

Ancient treatise on law :

(1) Vedas (2) Upanishads (3) Smritis (4) Shrutis
fafer & geraw wfar @
(1) 3= (2) sufg (3) W (4) fa
38.  Who is associated with drafting of the Indian Penal Code ?
(1) Lord Macaulay (2) Sir Frederic Pollock
(3) Mulla (4) Sir H.S. Maine
R 3US Hewr & Fe @ W Ser gon & ?
(1) @ ¥eral (2) W weRa diei®
(3) Fewm (4) ¥R Tdo o 7
39. The father of International Law is :
(1) Plato (2) Aristotle (3) Grotius (4) Denning
SRR fafy & fgr &
(1) wfer (2) 3RTY (3) Wfeasw (4) $Fm
40. To be eligible for election as President, a candidate must be :
(1) 25 years of age (2) 30 years of age
(3) 35 years of age (4) 40 years of age
Wfﬁfmgﬂmmﬁfﬁmaﬁ?@wwﬁa?ﬁﬁWaﬁq:
(1) 25 a9 &) 35 &7 (2) 30 99 P 37 @
(3) 35 q§ P IF B (4) 40 T§ B 37 Fr
41. Who among the following wrote the book on Indira Gandhi's election case
namely "The Case that Shook India" ?
www.lawgiri.cofl) H. M. Seervai (2) RajNarain
(3) F. S. Nariman (4) Prashant Bhushan
T T P T AT A R g R G 2 T e frer 4 4 s
fordy 2
(1) TFo Ho Rivarg (2) T ARG
(3) TPo THo W (4) v oy
42, By which Article of the Constitution the Untoy,

chability g ; _
practice has been made punishable ? 715 abolished ang its

G 1 AR SR T Y B wRuE B g
T ? Wma’@‘ﬁﬂmr

(115 12} 4o (3) 15(4)
(9)

@) 17

PTo.



43.

Who among the following is known as the chief legal advisor to the
government of India ?

(1) Chief Justice of India (2) Attorney General of India
(3) Solicitor General of India (4) Secretary, Ministry of Law
ﬁﬁ%ﬁ@ﬁﬁﬁﬁ;ﬁwwzﬁmﬁ@iﬁw%mﬁmm%?
(1) ¥RT BT q=g = (2) ARA BT FERIAE]
(3) WRT BT WfetRiey TvE (4) wfa, fafer #=merd
44. India's first court-annexed mediation centre, was established in ?
(1) Delhi (2) Tamil Nadu  (3) Kerala (4) Karanataka
Wﬁmmﬁg@nwwu?ﬁaﬁﬁqmﬂﬁgm?
(1) feeet 2) aferg (3) W (4) @D
45. Mist is a result of which one of the following ?
(1) Condensation (2) Evaporation  (3) Sublimation (4) Saturation
arewr frg 3 @ v aRom 8 7
(1) =R (2) arsfdRo (3) Sedura (4) AfETdRT
46. Who among the following was the Chairman of Bar Council of India during
Emergency (1975) ?
(1) FaliS. Nariman (2) Shanti Bhushan
(3) Ram Jethmalani (4) Justice P. N. Bhagwati
araraaTe (1975) %Wwﬁﬂﬁﬂqﬁmmawﬁﬁﬁﬁﬁaﬁ?w?
(1) Gl THo I (2) TR
Www.lawgiri.ggmp; sieAe I (4) wRed o TFo A
47. In which of the following states land reform failed to take off ?
(1) Punjab (2) Tgmil Nadu (3) Haryana (4) M.P.
ﬁmﬁf@amﬁﬁﬁ?ﬂﬁ{ﬁgwaﬁmwﬁﬁmﬁ?
(1) T (2) afferTTS (3) sRarm (4) ¥4 Yo
48. The precise formulation of the specific accusation made against a person who is

o know 1ts nature at the earliest stage 18 called :
(2) Charge (3) Charge Sheet (4) Police Report

IR
(1) Hﬁmwémﬁmwmmmwﬁmmwwﬁaﬁ
forh @mmmn%.m@ﬂﬁﬂ%t

entitled t

) R fee : T e (4) Rraire
) o % TP o ¥ o

(10)



49.

50.

51.

www.lawgiri Wm

53.

A person who has suffered any loss or injuiry caused by reason of the act or
omission for which the accused person has been charged, is called ?

(1) complainant (2) injured

(3) de-facto-complainant (4) victim

fooe P sroran dw @ BRU el @fie B BT seEn A T B & Ris o
SfgF afed o aRIfT fbar mr 2, 98 @l s &

(1) oRary (2) afed

(3) axIa: gRard) (4) fafden

The first Anti-terror legislation in India was :

(1) POTA (2) TADA

(3) FERA (4) NIA Act

MBS B o vom Rrmar o -

(1) G0 3o Eo TUo (2) o To Flo To

(3) o Fo R0 To (4) T o Yo IMIFIIH

No person shall engage in smoking in a public place. This rule has been notified
and came in effect on :

(1) 2 October, 2006 (2) 2 October, 2007

(3) 2 October, 2008 (4) 2 October, 2009
mewrﬁwwﬁﬁmiwﬁmmaa@qﬁm far 131 4
T garm ?

(1) 2 3EER, 2006 (2) 23R, 2007

(3) 2 IracER, 2008 (4) 2379y, 2009

Which of the following judges was appointed to the Supreme Court of India on
day of Golden Jubilee of Supreme Court of India -~ January 28, 2000 ?

(1) Justice Y. K. Sabarwal (2) Justice Ruma Pal

(3) Justice Saghir Ahmed (4) Both (1) and )
ﬁnﬁﬁﬁ-mwﬁmmﬁa}mﬁnwaﬁfﬁmwwag
2000 B ST ITATCR F1 AT fra fr a2 -
(1) =T qrgo Po Heavare (2) =T w47 g

(3) ~rmfer ¥R aHe 4) (1) vd (2) 3=

Who of the following was the fj
(1) Lord Mountbatten

(3) Chakrawarti Rajagopalachar;

Ist British Governor Generg] of India ?
(2) Warren Hastingg
(4) Lord Maca uley

(11)



54.

55.

frafaRad § 9 @9 9Rd 31 999 fafes ok oRa o1 ?

(1) oS ArSvedes (2) ar¥ eRe™
(3) THIAT IASTIUTATARY (4) o Ao

In which of the following years Pokharan Test conducted ?
PreaferRae aut 3 @ farrt draRor wferr Jred gI AT 2
(1) 1970 (2) 1974 (3) 1978 (4) 1982

Supreme Court of India has passed a resolution requiring the justices of the
Supreme Court to report their assets to the Chief Justice in:

m%mwﬁwwmﬁamwaﬁwﬁmmm
ARy A R e e #1 e @ @ s v 7 A 92

(1) 1997 (2) 1999 (3) 1996 (4) 1990
56. Which of the following is not an organ of the UNO ?
(1) General Assembly (2) Security Council
(3) WTO (4) Economic and Social Council
frfefad # & @19 Yo THo 3lo &1 °4eh 78l ¢ ?
(1) #eTaT (2) e aRR
(3) S=Yo Fo afo 4) R ACEILINE glRug
57. Rio Summit (1992) relates to which of the following subjects ?
(1) Atomic Energy (2) High Seas
(3) Environment (4) Earthquake
Ry afire frafalad 3§ & fra wwfd 8 7
(1) o S (2) YA IR
WWW-|aW9|”-C@5‘ﬂq—q1am () @
58. The Covenant of Economic, Social and Cultural Rights was enacted in :
W,W@mmﬁmmmﬁﬁwg?
(1) 1966 (2) 1976 (3) 1986 (4) 1992
59. 'Fundamental Rights' resolution was adopted in:

(2) Tripura Session

(1) Karachi Session 8 Nagpi Session

Gession
(3) Madrag ;;S;mm I .t Ly
Tg; ol T3 ) B a
(3) T ¥ (G B8

(12)



60.

61.

62.

63.

64.

World Intellectual Property Day is observed annually on :

(1) April 26 (2) May 26 (3) February 26 (4) March 26
® T favg dfgs vt Raw fba e 7mr omar & 2

(1) 26 3nrd (2) 26 w8 (3) 26 BN (4) 267"
The primary source of Muslim law is :

(1) Quran (2) Hades (3) Ijma (4) Khiyas
e fafYy &1 ured g @ & 2

(1) == (2) 8 (3) o (4) R

The language of the Supreme Court is :

(1) Hindi (2) Language of the parties
(3) Any language in the 8th Schedule (4) English

STAH SATGTeT &Y 7T &

(1) fe=d (2) GETHRY A T

(3) IS YR B BIg 7T (4) sl

Imprisonment means :

(1) Simple imprisonment (2) Rigorous imprisonment
(3) Simple or Rigorous imprisonment (4) Detention

PRIAN ¥ T9d ¢

(1) AR HRIER (2) POR BRIEART

(3) WMIRYI 34T FSR FRIETH (4) R (feewm)

The first Lok Adalat was held at :
(1) New Delhi (2) Jaipur (3) Cochin (4) Chennaij

www.lawgiri.cot%_ﬂ AN T W w2

65.

66.

(1) =€ fessh (2) SragR (3) BrE= 4) ==

Which of the following is not a Writ issued by the Supreme Coyyy »
(1) Mandamus (2) Quowarranto (3) Habeas corpus
ﬁw#ﬁmﬁwwmmﬁﬁamﬁwm%?

(1) g=HTR™ Q) fedr yeBT  (3) T FmEavor (4) W o

In a bailable offence, the bail is granted as a matter of right :
(1) By the police officer and theeoyrt (2) By the court
(3) By the police officer (4) Either (1) or (2)

(13)

(4) SUCI moto

Fig



SHFETT TR § oA JAfGR @y fbas gRT &1 o |adl 8 2
(1) ufers ofifthey vd =marer &Rl (2) =rATeTd §RT
(3) H%MSWQT\’T (4) gr ar (1) 31qdr (2)

67. After independence, the first woman sentenced to death by the Madras
Sessions Court was :

(1) Nanawati (2) Nirmala (3) MonicaBedi  (4) Phoolan Devi
A=A S AT AT @ IRITerd K1 e Afden o wdverd gegevs e mar o ?
(1) ArTa (2) fasfer (3) #AfF@r I (4) ®e <&

68. For the application of Section 149 of IPC, there must be at least :
(1) Three persons (2) Four persons
(3) Five persons (4) More than five persons

iy que wiRdT B ORT 149 F @ B B I B9 & A fbe afd o
AIHAT Bl 8 2

(1) = efed (2) IR afed
(3) dfg afd (4) U9 afddl ¥ S

69. Law cxcuses acts done under influence of intoxication, the intoxication :
(1) must be high (2) must be voluntary
(3) must be involuntary (4) Both (1) & (2) above
ﬁrﬁ)ﬂﬁqﬁuaﬁaﬁﬂa‘rzﬁqwﬁ%mw%aﬁmaﬂfﬁ%ww:
(1) Sea wW9d Bl a1fey (2) s B MRy
(3) dfegad I AMey (4) SR (1) AR (2) ST

70. Copyright subsists for :

www.lawgiri.confl) 50 years (2) 60 years (3) 70 years (4) 80 years

affrefer fre af & forg g g ?
(1) 50 T (2) 60 ad @3) 70 ad (4) 80 ¥

T ' 1 vi i ' i Constitution of India ?
i Civil Code is en 1saged in which Article of the : d
A Umform 1 . : ?
(1) 42 2) 43 (3) 44 (4) 45

i i fire is called :
- unlawfully damaging or destroying property by all
2. A Crme o é) Affray (3) Arson (4) Rioting

(ﬁl%aﬁmm%ﬁmwawﬂmﬁwm

T 2) M (3) ST A (4) TEX
(1) @‘ﬂqﬁl (

(14)



73.

74.

75.

76.

An order of a Court pronounced on the hearing of a suit is called : .

(1) Dehor (2) Degree (3) Decree (4) Deed

AT B GATE B I GAT T QY BEA B |

(1) SR (2) <eh (3) S @) S

Mens rea is :

(1) guiltymind (2) intention (8) evil (4) unlawful act
Mens rea (Imoviferes #=:Rerfar) < amerg &

(1) sovmelt AR (2) gwo1 (3) gpfa (4) R B

The two underlying concepts of Administrative Law are :
(1) Separation of Power only

(2) Rule of Law and Separation of Power

(3) Itis only one Rule of Law

(4) Delegated Legislation

(1) Bact faT HT geragasvoy

(2) fafy w910 W vd wifde @1 geragRoT

(3) T8 B9 & e s

(4) vemfa feme

Who among the following is the guardian of the public purse ?
(1) Parliament

(2) Public Accounts Committee

(3) President

www.lawgiri.com(4) Comptroller and Auditor-General

i1

frer 4 @ 29 dle PR &7 Sves & 2
(1) |4

2) AF oG A

(3) wrscufer

(4) PHGIR Td MR oy

A Writ by Court, to some person or body to compel tq Perf,
duty is : : Orm some public

(1) Quo Warranto (2) Habeis Corpy,g
(3) Mandamus (4) Prolbition

(15)
PTo



STEd W TN W Re wifter Snml e fal afd sirar wRen #1 uAl
wE T Prasy ol & R ana Rar B, FEerd 8

(1) SEaR goaT (2) @) yef el
(3) GERTRG (4) TN

78. The mistaken decision of a court :

(1) Per incuriam (2) Per curiam

(3) Per ntortunium (4) Pepper corn

AT T W ferar mar [l

(1) w3 T=rREEm (Per incuriam) (2) R trq;é‘w (Per curiamj)

(3) W s'"'a?;}ﬂm (Per intortunium,) (4) SR S (Pepper corn)

79. Law of contractisa:

(1) Public Law ?) Private Law
(3) International Law (4) Conflict of Laws
(1) =6 faig (2) R fafe
(3) srerdei ff (4) o) faer faf
80. The largest coal reserves of India are found in
(1) Chhatisgarh (2) Jharkhand
(3) Madhya Praciesh (4) Odisha
it 3 e GV PSS OSR U e @ P
(1) sdaTE @), mRes
Www.lawgiri.GQM:; e (4) wireem
i sino the guilt of an accused lies upon the :
wiial law the burden of proving the g ‘ W
. illfni{ (2) Defence (3) Prosecution  (4) Eye witnesses
‘amipial #ki o
(1) Comj > ger BRI @ @1 AR e R B 8 7

) # arfRgad P
‘ﬂw ~l'(’g} qarg G (3) afred e (4) gegeredfi TdTE
(1) WwalE

s ionl in a Criminal Court of law
an who insti

tutes and carries on proceedings
g2. A wom

i ca'ﬂied: i () Prostitution  (3) Fallen (4) Prosecutor
i hvbtc‘ﬂ il I 7 QT wRad BRI € AR T &, Frend) 2 -
(CIRHER (2, T (3) HTe (4) ST

(16)



83.

84.

85.

87.

Civil Procedure Code relates to :

(1) Legislative Procedure (2) Civil Court Procedure

(3) Revenue Matters (4) Only Supreme Court Matters
ffeer uftban <fear fremy wwg & 7

(1) Fenfe wfhar (2) fafaa @i

(3) oa A (4) P ITa AT B AHA

The Bhoodan Movement accepted voluntary donations of land for the purpose
of :

(1) distributing it among the Harijans  (2) distributing it among the landless
(3) setting up co-operative farming  (4) setting up of collective farms

AT SR # 0T & T A g o B ST f @ R @ e 2

(1) eRSY # faexor @ farg (2) 4fREEr § Rdvo 3 fax
(3) wEwRar wdl & forg (4) Afes wdt @ fory
The Indian Space Research Organisation is at :

(1) Bangaluru (2) Thumba

(3) Thrivananthpuram (4) Sri Harikota

HIRAIE IR ST Ve wret Rerg § 2

(1) dreg® (2) o

(3) freg~agws (4) = eRrer

Name of a device that changes a electrical energy to kinetic energy :

(1) Electric motor (2) Lantern

(3) Davis lamp (4) Electric bulb
WWWIan'”CQmWWWWWﬁgﬁmfaﬁwﬁwmﬁwg;,

(1) fIorel @) Arex Q) TTeeT

(3) sfm o (4) TR @7 9o

Whose consent is requi i :

ki quired for a Money Bill to pe INkodyceqy in a Stage

(1) Governor (2) Speaker

(3) Chief Minis"ter (4) Finance Minister of St

o R 71 R0 T et 8w o) ey oy

(1) ST (2) R drey o

() T (4) T T o



88. Which one of the following is a bulwark of personal freedom ?

(1) Mandamus (2) Habeas Corpus
(3) Quo Warranto (4) Certiorari

e o @ B afdrTa e @1 3| 8 7

(1) WARY (2) T4 FaENHIOT
(3) SiftrpR gesT (4) ST

89. Election Commussionisa:
(1) Constitutional body
(2) Political body
(3) Quasi-judicial and quasi-political body
(4) TJudicial body
AT ST &
(1) wdenfe wRex
(2) IoHfad qeen
(3) srf=nfie Td ariRToTfaE wRen
(4) =i HRn

90. The power to direct, control the elections to the Panchayat is vested in:
(1) State Election Commission

(2) Election Commission at the Centre

(3) Delimitation Commission at State Level
(4) Governor
el @ g e @i e T R @ iR fred o § 7
(1) ¥reg T
www.lawgiri.con®) T et ST
9 (3) T i qAfTREr ST
(4) ST
91. The essential ingredients of a crime are :
. (1) motive, mens rea and actus reus
(2) motive, intention and knowledge

(3) actus reus and mens rea
(4) kﬂOWIedge! intention and action

SR o €

@) = &3 T MR Ae:Rafd

(3) ot
(18)



92,

93.

94.

95.

Of the following, medicine for Typhoid is :

(1) Chloroquin (2) Vitamin A (3) Chloramycetin (4) Sulpha Drugs
e & @ coiEse & o) B gar & ?

(1) TR (2) faerfi=-v (3) FARMIRART  (4) HTPT T

I 'am facing South. I turn right and walk 20 m. Then I turn right again and walk
10 m. Then I turn left and walk 10 m and then turning right walk 20 m. Then
turn r:ght again and walk 60 m. In which direction am I from the starting
point ?

(1) North (2) North-West  (3) East (4) North-East
ﬁa%wﬁwa%aﬁvﬁgmwélﬁm%ﬁwzo%vm:mﬁmﬁﬁ
ﬁﬂgmaﬁvloﬁawmaﬁﬁwmmﬁawmmmﬁﬁ%w
aﬁvzowhaaanaaﬁaﬂ%ﬁﬁwgmaﬁvw'ﬁaamfﬁwwaﬁmm
feam % wer € ?

(1) SR (2 Swafem  (3) @ (4) STR-9d

If each of the dimensions of a rectangle is increased by 200%, the area is
increased by :

mﬁ@%ﬁnawmmzoo%mmamwmaamﬁz
(1) 300% (2) 200% (3) 800% (4) 600%
The number missing in the serjeg 2,5,10,17, ....,37,50, 65 is :

2,5,10,17, ...., 37,50, 65 B *Raey § -1 wemm qaRe 2 2
(1) 27 (2) 22 (3) 24 4) 26

www.lawgiti.c ;
: gg gmlock seen through a mirror shows 8 o‘clock. What is the correct time 2

97.

Wa@;aﬁmﬁé@ﬁwaﬁmgmﬁw%mﬁmmmgp
(1) 1220 (2) 4.00 (3) 1240 4) 8.00 |

In a class of 35 students, Kung] is placed seventh from the bottom h
Whereas

Sonali is placed ninth from the top. pylkit is placed exectly j
What is Kunal's position from Puliit? P ctly in between the two.

vemw%iaﬁﬁﬁmﬁ‘*“%aﬁaﬁamaﬂmw ' TR
1) 9 (2) 10 (3) 11 4) 13 il &
(19)



98.

Wh_ich of the following numbers should be added to 11158 to make it exactly
divisible by 77 ?

Prer o 3§ b W @) 11158 § ST o aifed 6 @8 77 ol fawrsa &1 ol ?
1) 9 2 8 3) 7 @ 5

Dfﬂ-’fﬁOfrs : In each of the following questions, four words have been given, out of which three
are alike in some manner and the fourth one is different. Choose out the odd one :

www.lawgiri.co

AT - Aol yeie go7 § 9% 9%

aerr e f=7 &/ fave o @) g
99. (1) Medium (2) Average
(1) =egq (2) i\
100. (1) Gallon (2) Ton
(1) o= (2) <A
101. (1) Wood (2) Cork
(1) T (2) @i
102.

by 8, the remainder will be:

Wﬁ@fﬁ%%ﬁﬂaﬂmﬁwz

1 9 B0

(1) 4 () 5

103. In a certain code,
fapft e AT ¥ FIRE @

(1) MWED (2) MWEO

104.

OVER & &1 F1 ae &l

write PRANK In that coding system ?

Ry & Rrd | i 9% g TP o6 £ 19

(3) Mediocre (4) Terrible

(3) @ T @ (4) WD
(3) Quintal (4) Kilogram
(3) faaee 4) frarum
(3) Stone (4) Paper
(3) TR (4) DT

A number divided by 56 gives 29 as remainder. If the same number is divided

93‘[&%67?1311116?%11@:{@8%%1%%5

(3) 6 4) 7

FIRE is written as QHOE and MOVE as ZMWE. Following
the same rule of coding, what should be the code for the word OVER?
QHOE firar imar & 7@ MOVE &1 ZMWE ferar sirar

2

(3) MWOE (4) MWZO

In a coding system, PEN is written as NZO and BARK as CTSL. How can we

wd BARK @ CTSL ferar w8 |

WﬁawﬁﬁPENaﬁNzowmg
Eﬁ%amﬁ%qPRANKzﬁ‘rﬁw?
(1) CSTZN (2) NSTOL (3) NTSLO W NZTOL
105. LCM. of 22,54, 108,135, 198 is :
108, 135, 198 31 Teiotitogro &
22,54 (2) 1980 (3) 5940 @ “Tiaa

(1) 330

(20)



106.

107.

109.

110.

111.

108.

If the H.C.F. of two numbers (each greater than 13) be 13 and L.C.M. 273, then
the sum of the numbers will be :

IR T HEARl BT ThotiloTho (Felie 13 | wTET ) 13 € SR TdowloTHo 213 B,

a1 39 Al &1 AnT 8e
(1) 286 (2) 130 (3) 288 (4) 290

N ranks fifth in a class. S is eighth from the last. If T is sixth after N and just in
the middle of N and S, then how many students are there in the class ?

TP Bl § N I dferdl ooy 21 S o o S amedl 81 AR T, N @ 1€ 8¢
W ETdAF NTESH 7o & 09 sem 3 vy Rreneff & ?
1) 23 (2) 24 @) 25 (4) 26

The smallest number which is divisible by 12, 15, 20 and is a perfect square, is :
LA AT S 12, 15,20 9 s @ s o e @
(1) 400 (2) 900 (3) 1600 (4) 3600

The greatest number of 4 digits which is divisible by 12, 18, 21, 28 is :
IR DT B BT N Wy i 12, 18, 21,28 fwroy -

(1) 9848 (2) 9864 (3) 9828 (4) 9836
Sake era started from :

(1) 78 BC (2) 78 AD (3) 300BC (4) 124 AD
TH T B W LS g ? _

(1) 78 = (2 78T S (3) 3004+t (4) 1247 &

In a group of cows and hens, the number of legs are 14 more than twice the
number of heads. The number of cows is :

www.lawgiri.coniﬂ?ﬁﬁwgﬁh‘fa%wﬁ,ﬁﬁﬁﬁwﬁﬁ%gﬁﬁﬁ@r%uw%mw

112,

113.

T HEm R

(1) 5 2) 7 (3) 10 ) 12

Delhi become capital of India ip -

feeet e &) T g G H gt ? -

(1) 1910 @ 1911 (3) 1916 (4) 1923

In the year 2004, Najma got Rs, 2305.08

allowance per day was : " s her pocket aHOWance. Her pock
(1) Rs.6.30 (2) Rs, 6.31 (3) Rs.6.32 &

T BT 9§ 2004 § S 24y 2305.08 wor Fvell, Sy Rifey @ R 6.40

1) 630%R @ 6313m (3 emrom ?%mg}m,
(21) Yodomy

PTo.



114. The number of boys in a class is three times the number of girls. Which one of

t}11e fo?llowing numbers cannot represent the total number of children in the
class ?

meﬁaﬁﬁﬁwaﬁaﬁw@@eﬁﬂlﬁ%:ﬁmﬁ%aﬁﬂw
T Pell H Hod qedl @) weE FE 2 qaht ?
(1) 48 (2) 44 (3) 42 (4) 40

115. In an examination, a student scores 4 marks for every correct answer and loss
1 mark for every wrong answer. If he attempts all 75 questions and secures 125
marks, the number of questions he attempts correctly is :

w@wﬁ,wfﬁmﬁﬂﬁw$m4ww%mﬂmw$m
1w@m%|ﬁﬁmﬁ#m75mﬁ$wémlzswmfﬁﬁﬂ
S P IR g TSR fear @ ?

(1) 35 (2) 40 (3) 42 (4) 46

116. After measuring 120 meters of a rope, it was discovered that the meter rod was
3 cm longer. The true length of the rope measures is :

(1) 116m.40cm.  (2) 121 m. 20cm. (3) 123 m. (4) 123 m. 60 cm.
1zowmmzﬁwumwﬁmaﬁs3wo'auﬁ%|wﬁﬁm
e fea & 7

(1) 116 %o 403flo (2) 121 70 20 IFfo (3) 123 #o (4) 123 Ho 60 o

117. 1f Ram, while selling two cows at the same price, makes a profit of 20%. On one
cow and suffers a loss of 20% on the other cow, then:
www.lawgirl -@9"Me makes no profit and no loss (2) He suffersa loss of 1%
(3) He makes a profit of 1% (4) He suffers aloss of 2%
ﬁz@ﬁwmmmﬁmﬁwwmm%mﬁm%wwﬁ
111'&11?20"/0%1%'5’1??7%,6‘[: _
1) mqaﬁimm%aﬁvagﬁ () ¥ 1% FfH B B
0 2
o 1 @M B B (4)3?12/&%3@%
(3) (_J,‘é 1/0?5‘

ers will play every other player only

ament each of the 6 play
the tournament ?

[n a ches to ny maches will be played during

118.
nce HOW T e ¢ R 3 wetw R @1 TR B WM 39 0
W*‘@gﬁﬁ;ﬁﬁﬁajﬁﬁmﬁﬁﬂaﬁﬁﬁ“
ard A& 4 15 3) 30 @) 36

1) 12 (22)



119.

120.

121,

122

www.lawgiri.c%y

124.

A vessel full of water weighs 40 kg. If it is half filled, its weight is 30 kg. The
weight of the empty vessel is :

(1) 10kg. (2) 15kg. (3) 20kg. (4) 25kg.

gl |/ R §Y A BT UR 40 fhell ¥ ) R S AT W1 SR A1 IS o 30

felt 8 | @t a9 &1 fawm qom & ?
(1) 10 foeir (2) 15 frar (3) 20 e (4) 25 fpelr

The mean of 100 items was found to be 30. If at the time of calculation, two
items were wrongly taken as 32 and 12 instead of 23 and 11, the correct mean
is:

100 3m$e 7 $ivT 30 ¥ | T PR a9 TR 23 3R 11 A wE 32 R 12
form man 2, o @€ o @

(1) 29.4 (2) 295 (3) 29.8 (4) 29.9

The average of three numbers is 28. The first number is half of the second and
the third number is twice the second. The third number is :

@1 W@ a7 sva 28 2 aor e fadia &1 amaR @ sk g v fde W
AT 2| et e

(1) 18 (2) 24 3) 36 (4) 48

A man covers half of his journey as 6 km/hr
His average speed is :

(1) 9km/hr (2) 45km/hr (3) 4km/hr 4) 3
wmﬁﬁmmﬁwemmwammmm%f%m .
BN IR TR R | vy v Ty 2 A ey

(1) 9fh ¥ ver () 4.5 foi ufa Her (3) 4100 IR vy

and the remaining half at 3 km/hr.

@) 3150 oy gy
A man bought 5 shirts at Rg_ 450 each, 4 trousers at R, )
shoes at Rs. 750 each. What i the average expenciture p, ‘et‘:lCh and 12
(1) Rs.1000 (2) Rs. 900 (3) Rs.8y P rr}rhde ?
TP AR 5 it T 450 wo ¥, 4 growRE 750 e “) Rs. 6785
D b R X T | e g 1 e @ R 2 T 2w gy e

pairs of

(1) 1000 ¥o (2) 900 %o (3) 800 %o
If the sum of @ few numbers is 450 and their mean is 50 0 %o
100 is included, the mean would become : 5

IR B WRART T WS 450 3k BT AT 50 ) IR g.,nothef umpe,
o, M w1 stk @ s .
o () 75 L
(1) 55 (2) 60 @ .
(23)

[¥e)



125.

126.

127.

128.

129. Which of the following is a mode of revo

In how many ways can a group of 5 men and 2 women be made out of 2 total of
7 men and 3 women ?

Hgﬂ?g?ﬁaumﬂf%amﬁﬁﬁsaﬁqﬁawzq%amﬁ%ﬁﬁﬁwmwm
g7
(1) 63 (2) 45 (3) 126 (4) 90

Two dices are thrown simultaneously. The probability of obtaining a total score
of8is:

ﬂmﬁaﬁwwu%mm%WtﬁmeﬁaﬁWﬁm%:

5 1 1 7

1) = 2) = 3) = 4) —
(1) = @ ¢ ®) 3 v
How many days are there from 3rd February, 1989 to 9th June, 1989 ?
3 weadl, 1989 T 9 S, 1989 & Ara gt fret R & 2

(1) 14 (2) 130 (3) 152 (4) 127

The ratio between two numbers is 2 : 3. If the consequent is 24, the antecedent
15 |

<) et @1 U 2: 38| mswaaa'cﬁzﬁa’rmx@aim.

(1) 36 () 16 (3) 48 (4)

cation of proposal ?
(2) Lapse of time

i ation
(1) Notie D (4) All of the above

ferot
(3) Death of of o o R ?
WWW.|angﬂ 9 ﬁ;@g ? W(;?Bw g 9 4
(1) “%“—"m;‘ﬂ A (4) SqREd 0
(3) s

-« quniSha le -as e ind
Anact1sP niedby a guilty mun
1) ifitis accom! i Py @ notice, intention and knowledge
it o ompanied b ilty mind
34 accomy ~ompanied by a guilty
(2) i\ten ifitis 1\0; aused by the act
() ¥ 1™ T ¥ <feq g ¢ :

A\
k;;;‘;aﬂﬁ%mﬁuﬁrﬁf&mwﬁ
mamﬁﬁ’{m,wmamaﬁﬁﬁmwﬁ

T ARafy € 7 ) fvar T &
D 75 af & o

&) ¥ (24)



WWW-|3W9'?1F%rt?engthen (2) create (3) conquer

SECTION -1
grg - ||
Either
English Language
Note : Four alternatives are given as possible answers to each question. Give the
correct choice as an answer.

Question No. 131-134 : Select the word nearest in meaning to the given words :

131. Unabated :

(1) Unsympathetic (2) Unaltered

(3) Unparalleled (4) Uncompromising
132. Reinforced :

(1) strengthened (2) Reconstructed (3) Replaced (4) Restructured
133. Colossal :

(1) evil (2) colourful (3) gigantic (4) atheletic
134. Diatribes :

(1) criticism (2) lengthy letter (3) exclusive club (4) ancient

Question No. 135-138 : Select the word opposite in meanin g to the given words -

135. Lavish:
(1) grand (2) penny wige (3) frugal (4) du)
136. . Subvert :

(4) escalate
137. Deliberately :

(1) unintentionally (2) reluctantly (3) wrongly (4) NOtorioys]
Ously

138. Despise:
(1) detest (2) hate

@) relieve 4) oy,
Question No. 139-142 : Fill in the blanks with the correct word :
139, These elections will be remembereq 4

Farkg snnessisnmmn mandate.
(1) invincible (2) rational

(25)

much for its antHncump,
Ny m
00d a

(3) unprecederte (4) deb'berat
e

P.T.0,



140. Leadership defines what the future should look like and ...........c....n. people
with that vision. '

(1) aligns (2) develops (3) trains (4) transforms

too much for the job.

------------------

141. Hundred rupees
| (1) seem (2) areseen (3) seems (4) is seeming

142.  Good boys do not quarrel with ............ .
(1) each other (2) one another (3) another (4) other

Question No. 143-144 : Fill in the blanks with the correct preposition :

143. Hewasborn ............ humble parents.

(1) from (2) on (3) of (4) off
144. We will have to adjust ourselves ............ new circumstances.

(1) to (2) with (3) from (4) of

Question No. 145-146 : Select the option that best expresses the meaning of the following
idioms :
145. To fight tooth and nail :

(1) making every possible effort to win

(2) to fight fiercely with great effort

(3) to fight heroically

www.lawgiri.com () t© fight a losing battle

146. Torise Jike a Phoenix : |
(1) To resemble a Phoenician (2) To rise with anger

(3) Torise with a new life (4) To get up with start

. No 147-148 : Select the word which can be substituted for the given group of
Question O .

words :
47. A sta’tefﬂe“t that can have a double meaning :
147. (1) verbose (2) ambivalent (3) epigraph ( 4) ambiguous
The intelligent ad educated class
(2) aristocrate (3) educated ) intelligentsia

Jiterate
(1 n (26)



Question No. 149-150 : Identify the part having an error in the following sentences :

149. (1) The girl said (2) that she preferred
(3) the blue gown (4) than the black one.
150. (1) The lonely traveller puzzled (2) when he discovered
(3) the print of a foot (4) on the sand.
SECTION - I
Tque - I
OR
YT
fe=y wren

s - ﬁﬂf?-rﬁaaﬁﬁa?(l), 2), 3) T @) HHF® B FR-TR Iwfeas T Y ™ §
o & i ¥ & Wl ¥ 9 9 SR 3 g |

151. {éﬁ%ﬁﬁmﬁ?ﬁmf&mmﬁgm?
(1) Yo (2) @R (3) i (4) It

152, = Aeh, forw avf @ g a2 o
(1) o = () off =) (3) ufdeed fR=h 4) fierd =y
153, geomeree fa werme e sy R @ ?

154. gfe =mf ¥ ofe EAIC IR o N
www.lawgir{gowarer = (2) FIP gy

(3) TR A FUW A WG T gy @) <ha sy
155. ﬁmﬁmﬁﬂ‘gﬁﬁfﬁﬂﬁmﬁﬁ%ﬁtﬁﬁ%%aw

(1) st ¥ e (2) TAAE T %f@m?
(3) 7eT e Arerdry (4) TR
156. Waﬂmﬁﬁmﬂﬁ%mw?
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